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M (= 4N ¥S 19-CCO11 HOIXI (1) / (516)
= Ab o | ol2IREE 1 D(0I2IAEER) AHHEIZA
3 OB = A | M2 AMA GLE3Z 10, MEESED
o 2 ol /ol Ml & Xt (S)HIEAA = A Xt 2 = 3
= 5 el 19. 07. 30. = A o 19. 07. 30.
o&Z
A& = x| = = A2t Sy | ARuc SHAY =1
of HH = =xe ; : -
I - = A (min) (L/min) | (OH/mm®) | (OIZF: 0.010M/cc) | o
1 A-1 SHEral 100 10.002 3.821 0.0013 olet
2 A-2 RSN 100 10.001 5.095 0.0018 olet
3 A-3 SHEAl O 100 10.000 2.547 0.0009 olet
4 A-4 3H &AL 0f 100 10.000 5.095 0.0018 olet
ZXHsC(Oh/en’) = {HRUT(OH/m’) x HESHE ()} / TERSH(L), WFHE = 385mn°
1. I = =& JIZE : 0.0194/cr 0I5,
2. Sgs S| gl= 8 A2 302 OlLHO HBIJIE,
3. (IR0 5{J} 2l0l WL = & oS
4. NE HH XE B 2 &X

20199 078 302

(R) & & o1 &




M (= 4N ¥S 19-CCO11 HOIX (2 / (&16)
= Ab o | 0l2IREE 21R(0I2AEE) AHEANBA
B3O T A Al BBIR R (BBE, RHESE)
ol 2ol /3l M & Xt (R)BIEAL &2 A Xt 2 & 3
= 5 el 19. 08. 04. = A o] 19. 08. 04.
o4& Z
Al =3 oo qeooc ==l
= i E£F2AX N2 i | Oy | CIED0.01 | =R0R
- (min) M/cc)
1 A-1 SR E A 240 10.002 14.012 0.0022 olgt
2 A-2 SRB A 240 10.001 11.464 0.0018 olgt
3 A-3 SRB A 240 10.000 15.286 0.0025 olgt
4 A-4 SRZAH A 240 10.001 14.012 0.0022 olet
5 A-5 S RERSL] 40 10.002 3.821 0.0037 olgt
6 | A8-1| SAINZIHETR 40 10.000 2.547 0.0025 olgt
7 | A82| S2)ZIHIER 40 10.000 2.547 0.0025 olgt
8 | A83| SAINBIIHIE 40 10.002 1.273 0.0012 olgt
9 A-9 HolgpEs 40 10.001 3.821 0.0037 olgt
EFHsC(O/cn’) = {HRLT(OH/m®) x HESHE ()} / TRZH(L), WFHE = 385mm°
1. I & 5% JIZE : 0.0194/cr 0I5t.
2. S¥s S8 s 8 A2 302 olUoll HOIE.
3. 1RO F{Jt 20| LM 2 5 US.
4. N2 M NE X 29 =X,

20198 082 04<

(R) &4 A o 8 Z




ANlg & 8 A

M (= 4N ¥S 19-CCO11 HOIX (3) / (516)
= Ab o | 02IRAEE A1W(0I2IAER) ABHENBA
B3O = A | WS AMA BBI2 32(2BS, RMESED)
ol g ol /o Ml & Xt (R EHAHS = A Xt 2 & 3
= 5 ol 19. 08. 04 = A o] 19. 08. 04.
2. @& &1
= = =
e Qg =SERT _‘(;fiﬁl)?_} (chjrm%i;n) ?Dﬁ/r%n% (JI—E—?%%%L/CC) a:’;
1 A-1 Hchal 100 10.002 3.821 0.0013 ol gt
2 A-2 262 100 10.001 5.095 0.0018 olet
3 A-3 TAHAR 100 10.001 5.095 0.0018 olet
4 A4 TAAR 100 10.002 6.369 0.0022 olgt
5 A-5 [=ySPN 100 10.000 | 10.191 0.0036 ot
6 A6 T 100 10.001 8.917 0.0031 olet
7 A7 [F=yPN 100 10.000 | 12.738 0.0045 olgt
8 A-8 T 100 10.000 | 11.464 0.0040 olet
o SHSTOH/en’) = {(BRYZ(H/m’) x MHSH(m’)} / ZH(L), HHHE = 385m°
1. 2J1 & 5% JIZE : 0.01M/cr 0I5t
2. Sgst 28I} gl B AlZE 302 OILHOI HIDIE.
3. (RO 5Jt 2lol e = & oS
4. N THE NE X 2 X
2019 08& 04
(R) & & o &




1.1 & A=A B3 19-CCO11 HOIXl (4) / (£16)
= N g | ol2REX A1W(02IMEX) HUEIHBA
B ¥ F 4 | AN B3R 32 (RaS, 2E¥XSE)
o 2l ol /3 M & X (R)HEAL = A Xt 2 & 3
= 3 =l 19. 08. 05. = A o 19. 08. 05.
2. =4 Z 1
Al B - qeooc =2
= i E£F2AX N2 i | Oy | CIED0.01 | =R0R
- (min) M /cc)
1 A-1 SREA 240 10.000 10.191 0.0016 affel;
2 | A2 SXNAAS 240 10.001 12.738 0.0020 Dl et
3 | A3 SXNAAS 240 10.000 11.464 0.0018 Dl et
4 | A4 SXHHH 240 10.002 12.738 0.0020 Dl et
5 | A5 S| M A | 40 10.000 5.095 0.0049 affel;
6 | AB-1| SYLIBIHET 40 10.001 1.273 0.0012 o[l
7 | A82 | SYIBIIET 40 10.002 2.547 0.0025 Dl 2t
8 | A83 | SLIBJItE 40 10.001 1.273 0.0012 Dl et
9 | A9 HO|2gtE? 40 10.000 3.821 0.0087 Dl et
w» SHEZOh/on’) = {8RLTOH/mr) x HFHH(m*)} / ZE2H(L), WHHE = 385m°
1. 21 & 5% JIE : 0.01H/cn 0I5
2. S8 S2I} ol & AIRE 302 O/l BIDIE.
3. PR 50t 0l WL Z & AS.
4. N2 MF T HE 29 X,
20198 088 052
o H A
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HIOIXI (5) / (&16)

02

A | HE MAl £B1R 32(25E, SHESS
of 2l ol /ol M & At (|F)HI&EA4 = A g & 3
& 19. 08. 05 = i 19. 08. 05
=4
= = =
= Sex jﬁi)r\ll)a (Lirm%;;n ) %ﬁ/rﬁ% @] —’.-_; %%%L /cc) a]_;
1 EEZ0 100 10.000 10.191 0.0036 0lgk
2 EEZ0 100 10.002 10. 191 0.0036 01gt
3 EEZ0 100 10.000 11.464 0.0040 01t
4 =51 100 10.001 7.643 0.0027 018t
5 SES 100 10.001 8.917 0.0031 0lgk
6 S 100 10.002 5.095 0.0018 018t
7 =25 100 10.000 6.369 0.0022 01gt
8 =& 100 10.001 5.095 0.0018 01gt
9 &9l 2l 100 10.002 3.821 0.0013 01t
10 golAal2 100 10.000 5.095 0.0018 018t

e nd
e Jm o Ji
4 ng < oA
O

=

(HLUT (H/mm?) x HHS=(nm?)} / ZTESH(L),

© 0.017H/cm OfGt.
8t AlZ2= 302 OlLHOIl HIOIE.
N

TE A = 385mm’




M 2 4 AN H S 19-CCO11 HOIXI (6) / (&16)
- A = Ol2IE2&x 21 (0I2IAExR) MHEIN A
3 2 = A QMAl EE12 3R (BEE, BHESE )
o2 ol /ol M X (S)HEHA = A Xt 2 & 3
= eS| o 19. 08. 06. 2 A o 19. 08. 06.
2. =&Z1
A2 =g ot dogo =AMZ
- =ZF9AX N2 i | Oty | O1E: 0,01 | =3H0iS
- (min) M /cc)
1 A-1 SXHH M 240 10.002 12.738 0.0020 0] o
2 A-2 SXHEAA 240 10.001 12.738 0.0020 0] o
3 A-3 SRZH A 240 10.000 15.286 0.0025 0] o
4 A-4 NP P 240 10.001 14.012 0.0022 0] o
5 A-5 2| A A Y| 40 10.000 2.547 0.0025 0] o
6 | A-8-1 seBIIMER 40 10.001 2.547 0.0025 0] o
7 | A2 | S2IZIImER 40 10.000 1.273 0.0012 0] o
8 | A8-3 | S22IZImE> 40 10.000 1.273 0.0012 0] o
9 A-9 HOISEER 40 10.001 3.821 0.0037 0] o
o ZRHSC(O/en’) = {89YT(OH/mn®) x JHE (')} / ZESH(L), WA = 385mm°
1. ) & 5% JI= : 0.01/cw 0|5
2. EYs EYI} gs B Al2= 302 OILHOI HDIE .
3. AR B} S0l W = 4 9=
4. NZ W NE g™ 2 &=x
20194 (088 06

(R) & 4 8 & & o




ANlg & 8 A

M (= 4N ¥S 19-CCO11 HOIXI (7) / (516)
2 Ab o | 0l2IREE 1R(0I2AER) AHEHBA
B3O T A | W2 ANA BB1Z 32(RssS, 2HESE)
ol 2 o /ol Ml & Xt (S)HIEAA = A Xt 2 & 3
= 5 ] 19. 08. 06 = A o 19. 08. 06.
2. =483
e Qg R E(inﬁl)a (chjrm%i;n) ?Jﬁ?r/rcnérln% (JI—E—%%%%L/CC) E:?J:
1 A-1 EF A 100 10.000 3.821 0.0013 olet
2 A-2 = 100 10.000 6.369 0.0022 olet
3 A-3 HH S 100 10.002 5.095 0.0018 olet
4 A-4 Htol =& 100 10.001 5.095 0.0018 olet
5 A-5 Htol =& 100 10.000 3.821 0.0013 olet
6 A-6 018 100 10.002 6.369 0.0022 alet
7 A-7 o018 100 10.001 3.821 0.0013 olet
8 A-8 & 01A 100 10.000 5.095 0.0018 olet
9 A-9 % 01A 100 10.001 6.369 0.0022 alet
10 | A-10 =2 100 10.000 8.917 0.0031 olet
o ZEHSCOh/en’) = {(H8KRLCOH/m®) x HESHE (™)} / ZESH(L), WHHA = 385m°
1. I = =& JIZE : 0.0194/cr 0I5,
2. Sgs S| gl= 8 A2 302 OlLHO HBIJIE,
3. (IR0 5{J} 2l0l WL = & oS
4. NE HH XE B 2 &X
201949 (08& 06Y
(R) & & of 8 A




ANlg & 8 A

1.1 & A=A B3 19-CCO11 HOIXl (8) / (£16)
= Ab o | Ol2IREE A1n(02IAER) MHENZA
O F A | H2 UM 2B1R 32(FES, BEESED)
o2 o /o X & Xt () EAHA = A X 2 = 3
2 5 o 19. 08. 06 =2 A o 19. 08. 06.
2. o8&
NE = o = SN | RY | HRLc SN =i
o 5 = =X ; - .
I - = A (min) (L/min) | (OH/mm®) | (OIZF: 0.010M/cc) | o
11| A-11 =2 100 10.002 7.643 0.0027 ojet
12 | A-12 2c 100 10.002 7.643 0.0027 olet
o ER=COh/en’) = (HSYT(OH/mf) x MR (mn’)} / ZESH(L), WHHX = 385mn°
1. )1 & 5% JIE : 0.014/cr 0l5t.
0. SYE SEI 9= B AIRE 302 OlLHOI HOIE.
3. 1229 5J} 90| M = & g,
4. N2 M NE HA 2 =X
2019 082 06¢

MM g




H (= 4N =35 19-CCO11 HOIXI (9) / (&16)
3 Ab e Ol2IR&E 21 (0I2IAISE) MU HBA
8O3 F 4 | YA 2BI2 R (2sS, FE¥ESE)
ol 2l ol /3 M & Xt ()BIEAL = = Xt 2 & 3
= P o 19. 08. 07. =2 = o 19. 08. 07.
2. =&
Al = oot douc =AW
= i =X 9K A2t (L7mci>n) aﬁna) (JIE: 0.01 | ZB0ig
- (min) MH/cc)
1 A-1 SXFAA 240 10.000 15.286 0.0027 olet
2 A-2 SN Py 240 10.001 12.738 0.0020 olet
3 A-3 SN Py 240 10.001 14.012 0.0022 olet
4 A-4 C N P 240 10.001 14.012 0.0022 olet
5 A-5 2| A & | 40 10.001 5.095 0.0049 olet
6 | A8-1 | SLINBJET 40 10.000 1.273 0.0012 olet
7 | A82| SUAINBIHIETR 40 10.000 1.273 0.0012 olet
8 A-9 Hol28&E2 40 10.001 5.095 0.0049 olet
» ZHSEOh/er’) = {(HRLYEOH/mf) x WHSER(m*)} / ZHEH(L), WHAX = 385m’°
1. I & 5% JIE : 0.014/cr 0I5,
2. S48 S8} gl & Al2s 302 olWol BHIIE.
3. PO BIIF 0 HEH 2 &~ AS.
4. N2 MHF XA HE 2H =X,

20198 088 07<




ANlg & 8 A

1.8 & 4N #3 19-CCO11 HOIX (10) / (Z16)
= At S |02 AEE A1D(0I2IASE) HPEHBA
OB = A | HE AMNA BB1E 2APBE, FEESED)
ol 2l o /3 M & Xt ()HEAL g = Xt 2 & 3
= X o 19. 08. 07 = = o 19. 08. 07.
2. =31
= = =
e Qg R _‘(;fiﬁl)?_} (chjrm%i;n) ?Jﬁ?r/rcnérln% (DI—’.E—_Z‘ J?c)j.%dg}l{/cc) a:’;
1 A-1 = 100 10.000 | 5.095 0.0018 0] o
2 | A2 =z 100 10.002 | 5.095 0.0018 0l 2t
3 | A3 0ls 100 10.001 | 10.191 0.0036 0l ot
4 | A4 0ls 100 10.000 | 8.917 0.0031 0l ot
5 | A5 0z 100 10.001 | 10.191 0.0036 0l ot
6 | A6 =X 100 10.000 | 11.464 0.0040 0l ot
7 | AT EE=N 100 10.000 | 10.191 0.0036 0l ot
8 | A8 EE=0N 100 10.002 | 10.191 0.0036 0l ot
9 | A9 =23 100 10.001 6.369 0.0022 0l ot
10 | A-10 =23 100 10.000 | 5.095 0.0018 0l ot
o ER=SC(Oh/en’) = {(ASLYET(OH/mn’) x HESEE(mn’)} / ZRZH(L), HHHE = 385mn°
1. I = S5 JI= : 0.01%4/cm 0I5}
0. S™E E2J} 9l B AIZS 302 O/LHOI B
3. RO B0} 20 WLE = & A,
4. N2 ME XN HR 2H =X
20198 08E 07¢
() & & & 2 A




H = 4N 35 19-CCOT1 HOIX (11) / (£16)
2 At o | ol2RAE A1W(0I2IASE) MPEHDA
BOF F A | AN 2B1R 2 (P5S, 2EESED)
ol 2| 0 /8 M & Xt (S)HIEAS = A Xt 2 2 3
= 3 o 19. 08. 08. = s =2 19. 08. 08.

A2 =g ot dogo =AMZ
- =ZF9AX N2 i | Oty | O1E: 0,01 | =3H0iS
- (min) M /cc)
1 A-1 SXHHM 240 10.000 12.738 0.0020 0] ot
2 A-2 STHHA 240 10.001 10.191 0.0016 0| ot
3 A-3 SRZEHA 240 10.002 11.464 0.0018 0| ot
4 A-4 SXBH A 240 10.000 11.464 0.0018 0| ot
5 A-5 S PERSE 40 10.000 3.821 0.0037 0| ot
6 | A-8-1 seRIIER 40 10.001 1.273 0.0012 0| ot
7 | A82 | SIBIIER 40 10.000 2.547 0.0025 0] ot
8 A-9 Ho|I2eE R 40 10.002 3.821 0.0037 0] ot
=EXNSC(OH/en’) = {HQUT(H/mn’) x MEHER(m?)} / ZTERSE(L), WHHX = 385m°
1. )1 = 5% JI= : 0.010H/cn 05},
2. Egsl EEJ} 9= & AlZ= 302 OILHOI HIDIE.
3. IR0 5 Q0| ML = 2 2.
4. N2 W3 NE ¢l 2 ==X

2019¢ 082 082




ANlg & 8 A

pli (= NEN B 19-CCO11 HOIX (12) / (&16)
= Ab o | ol2IREE 1 D(0I2IAEER) AHHEIZA
O F A | H2 UM 2B1R 32(FES, BEESED)
o 2 ol /ol Ml & Xt (S)HIEAA = A X 2 = 3
= 5 o 19. 08. 08. = A o 19. 08. 08
o&Z
= = =
e Qg S jﬁiﬁl)a (chjrm%i;n) ?Jﬁ?r/rcnérln% (2 -’.._E_‘ %%41% /cc) aj;
1 A-1 Ho =0t 100 10.000 11.464 0.0040 olet
2 A-2 Ho =t 100 10.000 10.191 0.0036 olet
3 A-3 Ho =t 100 10.002 11.464 0.0040 olet
4 A-4 Sxlee Al 100 10.001 12.738 0.0045 olet
5 A-5 SRl 100 10.001 10.191 0.0036 olet
6 A-6 Sress 100 10.000 8.917 0.0031 ojet
7 A-7 SreEs 100 10.001 10.191 0.0036 olet
8 A-8 Siees 100 10.001 11.464 0.0040 olet
9 A-9 ST Ll 100 10.000 11.464 0.0040 olet
10 | A-10 go=ut 100 10.002 12.738 0.0045 olet
EXH=C(M/en’) = {8QLT(OH/m?) x HESHE ()} / ZRZH(L), HEHE = 385mn°
1. I & =& JIE : 0.0194/cr 0l5t
2. S4B Sl gle 8 A2 302 OlLHO HBIJIE,
3. (IR0 5{Jt S0l HLE = & oS
4. N2 W NE X 21 X

2019¢ 082 082

(R) & & o &




ANlg & 8 A

1.1 & A=A B3 19-CCO11 HOIXI (13) / (Z16)
== Ab o OI2IR&E Q1m(0l2IAER) MHENHZA
BOR = A | HE AMA BBIZ 32(RESE, REESE)
o2 o /o X & Xt () EAHA =2 A N 2 = 3
- e o 19. 08. 08 =2 A o 19. 08. 08.
2. o8&
NE - _ =X A2 S Sl =F<EIn! ESn)!
O HH =Xo
== ds =EH (min) (L/min) | (OH/mm®) | (OIZF: 0.010M/cc) | o
11| A-11 3=k 11 100 10.001 10. 191 0.0036 ol e
12 | A-12 & 2H 100 10.002 5.095 0.0018 olet
o ER=COh/en’) = (HSYT(OH/mf) x MR (mn’)} / ZESH(L), WHHX = 385mn°
1. I £ 55 J|= : 0.0194/cr 0|5,
0. SYE SEI 9= B AIRE 302 OlLHOI HOIE.
3. IR FIIF Q0 MY = & o2,
4. NE HHE XE €A 2 BX
2019 08 08¢
o H A S
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Mau% N TN O o~
L= 33 /3(8/3|5|3
w-= 15|35 SIS |S |5 |S
kS |lclcloc|loc|lc|lo|o
TN =] —
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